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ó�ô þ íwv � vyx[��z)ú
ãcæ)ì>æ6íàó2öAo6í�ãNã>ì�ýNí�ã ï6{4�}|Uú
~�õ³å�ómåcæ óNö"o)í�ã2ã]ì]ýuí�ã-ï��m�Põ
íS�6í�ó6æ �2ò6æ�| ýuí�æ�õ
æNø)ìcó�ã
æNø�ò)írq�s
�2ò6æ�s"tàó2öAo6í�ãNã>ì�ýNí�ã#ï��]ó2öAo)í)ãNã>ì�ýuí)ã���î�õ
æNø�ò)írq�s$ýNí�æ�s"tàó2öAo6í�ãNã>ì�ýNí�ã#ï��]ó2öAo)í)ãNã>ì�ýuí)ã�s�î�õ

í þ ô>ó
� s q�8^q>p <2?�DU= �

nbMessages=2 ()

nbMessages=1

(get) (put)

()

nbMessages=0

(get) (put)

()
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�;����¼ ·�(��.
 (·´#�0�1'³(P�� �(�'>'>�
�L��
����

9 8Hw = DH��s
ó�ô þ í � ä1å�æ�ç{è
ãcæ)ì>æ6í ô>ó ïAö)ôNôuÿ ï �2òNö�ÿ6åNç
õ
å{ómåcæ ô>ó ï���æNø�ò)íPõ
ñ6ÿ2ô>ä ñmî�| ñ6ú ï6{D��|yî!~�õ
íS�6í�ó6æ �Nòmã�è;õ
æNø)ìcó�ã æNø]ò�í q�s
�Nòmã�è sYt ô�ó ï�� �cô>ó;õ
ì)ãNã�í�ø2æ ô>ó��Atðé�ñmî!�Nñuú�ê�õ

í þ ô>ó

�;����¼ ·�(��.
 (·´#�0�1'³(P�� �(�'>'>�
�L��
����

3C46p��N5 DU=�?��÷D§s q�8^q>p <2?{D^= �

�������������
��� �$�Y�!��������� � �

� ������������� � � �
����������������������!���#������� ���(� � ������� � �� ����������� ��� ��� ��¡!�����

�;����¼ ·�(��.
 (·´#�0�1'³(P�� �(�'>'>�
�L��
����

� s q�8^q>p <2?�DU= �

on=false,f1=0,f2=0
on=false,f1=0,f2=1
on=false,f1=1,f2=0
on=false,f1=1,f2=1

()

on=true,f1=0,f2=0
on=true,f1=1,f2=1

(push) (push)

()

¢ ���
�^�C
�'>�����;�0��¼ ·�(
�.
W(·´#����' (·�� (m'>'>�
�L�2
����

9�@ q ? q�7 <{D 4]7
ó�ô þ í4£uí�ó�í]ø)ì]æuô�ø
ñ6ÿ2ô>ä �1ÿcò�ã�|l�Cå{ó2ò�ãðï¤{4�}|yî!~�õ
ãcæ)ì>æ6í ô>ó ïAö)ôNôuÿ ï �2òNö�ÿ6åNç
õ
å{ómåcæ ô>ó ï���æNø�ò)íPõ
íS�6í�ó6æ ñ6ìuå�ÿ�òuø6í�|¾ø6í��1ìuå�ø!õ
æNø)ìcó�ã ô>ó¥q�s$ñ6ì6å]ÿ�òuø6í`sYt�ô>ó ï��,ñuìNÿ6ã>íPõ

��ô�ó¥q�s ø6í��1ìuå�ø¤sYt�ô>ó ï���æ2ø�ò)íPõ
ì)ãNã�í�ø2æ �1ÿcò�ã¦� îCõ

ô>ó�� éj�Cå{ó2ò�ã¦� ��ê�õ
í þ ô>ó
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¢ ���
�^�C
�'>��� (���(·�$	#�&
¯� ² �

9 & < p�� : = �6s{D
ó�ô þ í � ì�����ÿ6å>ý>è6æ
ñ6ÿ2ô>ä ñ�î§| ñuú ï�{4�}|�î�~�õ
ãcæ)ì>æ6í�ô�óf| ô>ù ï¾ö)ôNôNÿ·õ
å{ómåcæ ô>ù ï���æ2ø�ò�í·õ
íS�6í�ó6æ�øuíuìuç�æ1å>ô>ó%õ
æNø)ìcó�ã
ô]ù¤¨ é�ñ�î��mî!¨Nñuú
�mî�ê q�s øuíuì6çcæ1å>ô>ó©sYt�ô]ù�ï��NñuìNÿ)ã�í}|

ô>ó ï��NñuìNÿ)ã�íPõ
ô]ù¤¨ é§ô�óy�·éUñmî!�Nñ6ú)êNêªq�s øuíuì6çcæ1å>ô>ó©sYt�ô>ó ï��{�cô>ó;õ

í þ ô>ó

« 
��
�U(
�^� ² ´,(·�� (m'�´P��� ² �H���{´

9¸� 7�8 D q : q ��D 7 = �y<�:���= 7 � 5 = D
9à��= 7 � 5 = D�: =�? ��8 < 8Hw = DH��s�z1<�� q ? q�7 <�D 4]7 <2? t <�: < p�� :®= �6s�D Ó
ó�ô þ í � åcø1ç�òmå�æYz�î
ã�òNö £ ï¬£uí>ó)í�ø6ì]æ6ô]ø!õ� ï � ä�åcæ1ç�è;õ� ï � ì��.�1ÿuå>ý]èuæ
ì)ãNã�í�ø2æ � �Sñmî­�6£8�³�1ÿcò�ã
õ� �Sñmî­� � �Sñ6ú#õ� �Sñ6ú=�6£8�X�Cå�óNò�ã�õ

í þ ô>ó

« 
��
�U(
�^� ² ´,(·�� (m'�´P��� ² �H���{´

� s q�8^q>p <2?�DU= � v68 D^<�D q <2? tÇ�N4�w � < 7 =®< È : q�8
ó�ô þ í � åcø1ç�òmå�æYz�î
ñuÿ2ô]ä
£8�P��ÿ�òmãðï6{D��|yî�~Põ
£8����å{ó2ò�ã ï¤{4�}|yî!~�õ� �Lñ�î ï¤{D��|yî�~Põ� �Lñuú ï¤{D��|yî�~Põ� �Lñ�î ï¤{D��|yî�~Põ� �Lñuú ï¤{D��|yî�~Põ
ã{æ)ì]æuí
£8�Hô�ó ï ö�ô2ôuÿ·õ� �Hô�ó ï ö�ô2ôuÿ·õ� �Hô�ó ï ö�ô2ôuÿ·õ� �Hô>ù ï ö�ô2ôuÿ·õ
å�ómå�æ6£��Hô�ó ï���æ2ø�ò�í�| � �Lô>ó ï�� æ2ø�ò)í}| � �Hô]ù ï���æNø]ò�íPõ

« 
��
�U(
�^� ² ´,(·�� (m'�´P��� ² �H���{´

� s q�8^q>p <2?�DU= � v < 8^8^q�7 DU= 4 ?
ì6ãNã>í]øNæ� �Lñ�î­�6£8�³�1ÿ�òmã
õ� �Lñ�î­� � �Sñ6ú·õ� �Lñuú=�6£8�X�Cå{ó2ò�ã�õ
£8�P��ÿ�òmã¦� îCõ
£8�Hô�ó¤�6£8�X�Cå{ó2ò�ã¦� �·õ
ó�ô�æ � �Hô�ó ô�ø � �Lñmî®� � �Lñuú·õ
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« 
��
�U(
�^� ² ´,(·�� (m'�´P��� ² �H���{´

� s q�8^q>p <2?�DU= � v6q��{q ?{D 8 <2? t D 7 <2? 8 = DU= 4 ? 8
íF�6í>óuæ
ü'¯ î=¯�ü±°��"²³|T£8�eø6í��1ì6åcøI| � �T²³| � �T²"t³°"|
ü'¯$ú¤¯�ü±°��"²³|T£8��²�| � �T²³| � �T²"t³°"|
ü'¯ ��¯�ü±°��"²³|T£8��²�| � �T²³| � �Sø6íNì6çcæ1å]ô�óat³°"|
ü'¯ �©¯�ü±°��"²³|T£8�Sñ6ìuå�ÿ�òuø6í�| � ��²�| � �T²Yt�°Y|
ü'¯��¤¯�ü±°��"²³|T£8��²�| � �P�2ò�ãyèf| � �T²Yt�°Nõ
æ2ø)ì�ómã
æNø�ò)í q�s�°��"²�|�£8��²�| � �T²³| � ��²"t³° s"t õ
£8�Hô�ó q�s�°��"²�|�£8�Sñ6ì6å]ÿ�òuø6í}| � ��²�| � �T²Yt�°�s
t­£8�Lô>ó�ï��NñuìNÿ6ã>íPõ
ó�ô�æ6£��Hô�ójq�s³°��Y²�|T£��Søuí��1ìuå�ø�| � ��²�| � ��²Yt³°_s"tw£8�Lô>ó�ï��2æ2ø�ò)íPõ
æNø�ò)í q�s�°��"²�|�£8��²�| � �P�2ò�ã�è�| � �T²"t³° s"t � �Lô>ó�ï��]ó)ô�æ � �Hô�ó;õ� �Hô>ù ì�ó þ � �Lñmî´� îàìcó þ � �Lñ6úw� î
q�s�°��Y²�|�£8�T²³| � �T²�| � �eø6íuìuç�æ�å]ô>ó8t�°Ts"t � �Lô>ó ï��NñuìNÿuã>í�| � �Hô]ù%ï��2ñ6ì�ÿ)ã�í·õ� �Hô>ù ì�ó þ � �Lô>ó�� � �Sñmî®� � �Lñ6ú
q�s�°��Y²�|�£8�T²³| � �T²�| � �eø6íuìuç�æ�å]ô>ó8t�°Ts"t � �Lô>ó ï��]ó)ô�æ � �Hô�ó;õ

« 
��
�U(
�^� ² ´,(·�� (m'�´P��� ² �H���{´

� s q�8^q>p <2?�DU= �

G.on=true,S.on=true,L.on=false,L.ok=false,G.plus=1,G.minus=0,S.f1=1,S.f2=1,L.f1=1,L.f2=0
G.on=true,S.on=false,L.on=false,L.ok=false,G.plus=1,G.minus=0,S.f1=1,S.f2=0,L.f1=0,L.f2=0
G.on=true,S.on=false,L.on=false,L.ok=false,G.plus=1,G.minus=0,S.f1=1,S.f2=1,L.f1=1,L.f2=0

(S.push) ()

G.on=false,S.on=true,L.on=false,L.ok=false,G.plus=1,G.minus=1,S.f1=1,S.f2=1,L.f1=1,L.f2=1
G.on=false,S.on=false,L.on=false,L.ok=false,G.plus=1,G.minus=1,S.f1=1,S.f2=0,L.f1=0,L.f2=1
G.on=false,S.on=false,L.on=false,L.ok=false,G.plus=1,G.minus=1,S.f1=1,S.f2=1,L.f1=1,L.f2=1

(G.failure) (G.repair)

(S.push) ()

G.on=true,S.on=true,L.on=true,L.ok=true,G.plus=1,G.minus=0,S.f1=1,S.f2=1,L.f1=1,L.f2=0 ()

G.on=false,S.on=true,L.on=true,L.ok=true,G.plus=1,G.minus=1,S.f1=1,S.f2=1,L.f1=1,L.f2=1

(G.failure)

G.on=true,S.on=false,L.on=true,L.ok=true,G.plus=1,G.minus=0,S.f1=1,S.f2=1,L.f1=1,L.f2=0

(S.push)

G.on=true,S.on=false,L.on=true,L.ok=true,G.plus=1,G.minus=0,S.f1=1,S.f2=0,L.f1=0,L.f2=0

(S.push)

(L.reaction)

(G.repair)

()

G.on=false,S.on=false,L.on=true,L.ok=true,G.plus=1,G.minus=1,S.f1=1,S.f2=1,L.f1=1,L.f2=1

(S.push)

G.on=false,S.on=false,L.on=true,L.ok=true,G.plus=1,G.minus=1,S.f1=1,S.f2=0,L.f1=0,L.f2=1

(S.push)

G.on=false,S.on=true,L.on=false,L.ok=true,G.plus=1,G.minus=1,S.f1=1,S.f2=1,L.f1=1,L.f2=1

(L.reaction)

(L.reaction)

(S.push)

()

()

(G.repair)

(G.repair)

G.on=false,S.on=false,L.on=false,L.ok=true,G.plus=1,G.minus=1,S.f1=1,S.f2=1,L.f1=1,L.f2=1

(L.reaction)

G.on=false,S.on=false,L.on=false,L.ok=true,G.plus=1,G.minus=1,S.f1=1,S.f2=0,L.f1=0,L.f2=1

(L.reaction)

(S.push)

()

()

(G.repair)

(G.repair)

(S.push)

(G.failure)

(G.failure)

()

()

(S.push)

(G.failure)

(G.failure)

()

()

G.on=true,S.on=false,L.on=false,L.ok=true,G.plus=1,G.minus=0,S.f1=1,S.f2=1,L.f1=1,L.f2=0

(L.reaction) G.on=true,S.on=false,L.on=false,L.ok=true,G.plus=1,G.minus=0,S.f1=1,S.f2=0,L.f1=0,L.f2=0

(L.reaction)

(L.reaction)

(L.reaction)

()

()

(G.failure)

(G.failure)

G.on=true,S.on=true,L.on=false,L.ok=true,G.plus=1,G.minus=0,S.f1=1,S.f2=1,L.f1=1,L.f2=0

(S.push)

()

()

(G.failure)

(G.failure)

(S.push)

(L.reaction)

(G.repair)

(G.repair)

()

()

(S.push)

(L.reaction)

(L.reaction)

(G.repair)

(G.repair)

()

()

(S.push)

(L.reaction)

(S.push)

(S.push)

()

(G.repair)

(L.reaction)

(S.push)

(S.push)

(G.failure)

()

« 
��
�U(
�^� ² ´,(·�� �'�´P��� ² �H���-
�µ�(���
��;�

9 8^q � 4 ? t÷q : q ��D 7 =®�y<]:���= 7 � 5 = D
ó�ô þ í � åcø1ç�òmå�æYz)ú
ã�òNö £ ï¬£uí>ó)í�ø6ì]æ6ô]ø!õ� ï � ä�åcæ1ç�è;õ� ï � ì��.�1ÿuå>ý]èuæ
ãcæ)ì>æ6í ã]ì]ñuí ï ö�ô2ôuÿ#õ å{ómåcæ�ã]ì]ñuíûï��,ñ6ìNÿ6ã>í·õ
íS�6í�ó6æ ö�í�ý�å{ó�|Þø6í��1ìuå�øI|»í>ó þ õ
æNø)ìcó�ã �2ã>ì�ñuí=¨ ��£8�Lô>ó¶q�sàö�í2ý)å{ó©sYt�ã]ì�ñNí ï���æ2ø�ò)íPõ

ã]ì]ñuí q�s ø6í���ì6åcø¤s"t#õ
ã]ì]ñuíw¨6£8�Lô>ó q�s�í>ó þ sYt ã]ì]ñuíûï��,ñuìNÿ6ã>íPõ

ã>��ó�ç �]øuí��1ìuå�ø�|�£8�eø6í��1ì6åcøyt#õ
ì)ãNã�í�ø2æ �2ã>ì�ñuí=�'tðé � �Lñ�î®�`£8�P��ÿ�òmãuê�õ

ã]ì]ñuíw�At é � �Sñmî­� ��ê�õ� �Sñmî­� � �Sñ6ú#õ� �Sñ6ú=�6£8�X�Cå�óNò�ã�õ
í þ ô>ó

« 
��
�U(
�^� ² ´,(·�� �'�´P��� ² �H���-
�µ�(���
��;�

� s q�8^q>p <2?�DU= � v68 D^<�D q <2? tÇ�N4�w � < 7 =®< È : q�8
ó�ô þ í � åcø1ç�òmå�æYz)ú
ñuÿ2ô]ä £8�³�1ÿcò�ãðï¤{D��|yî!~�õ

£8�X�Cå�óNò�ã ï�{4�}|�î�~�õ� �Sñmî ï6{4�}|yî!~�õ� �Sñ6ú ï6{4�}|yî!~�õ� �Sñmî ï6{4�}|yî!~�õ� �Sñ6ú ï6{4�}|yî!~�õ
ã{æ)ì]æuí ã]ì]ñuíûïAö)ôNôuÿ#õ

£8�Lô>ó ïAö)ôNôuÿ#õ� �Lô>ó ïAö)ôNôuÿ#õ� �Lô>ó ïAö)ôNôuÿ#õ� �Lô]ù ïAö)ôNôuÿ#õ
å�ómå�æ ã]ì]ñuí�ï��NñuìNÿ6ã>í}|·£8�Lô>ó ï��2æ2ø�ò�í�| � �Hô�ó ï���æNø]ò�í}| � �Lô]ù�ï��2æ2ø�ò�í·õ
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« 
��
�U(
�^� ² ´,(·�� �'�´P��� ² �H���-
�µ�(���
��;�

� s q�8^q>p <2?�DU= � v < 8^8^q�7 DU= 4 ?�<2? t�q��{q ?{D 8
ì6ãNã>í]øNæ�ã>ì�ñNí,ô�ø � �Sñmî­�6£��P�1ÿcò�ã�õ

ó)ô�æ ã>ì�ñuí,ô]ø � �Sñmî­� �Põ� �Lñ�î®� � �Lñuú·õ� �Lñuúw�`£8����å{ó2ò�ã
õ
£��P��ÿ�ò�ã®� î�õ
£��Hô�ó��`£8����å{ó2ò�ã¦� �·õ
ó)ô�æ � �Hô>ó�ô]ø � �Sñmî­� � �Sñ6ú#õ

íF�6í>óuæ üA¯ îw¯�ü±°���í>ó þ |T£��T²³| � ��²�| � �T²Yt�°Y|
üA¯$ú�¯�ü±°��>ø6í��1ì6åcøI|�£8�Søuí���ì6å�ø�| � �T²�| � ��²"t³°Y|
üA¯ �©¯�ü±°��Y²�|�£8�T²³| � �T²�| � ��²"t�°Y|
üA¯ �¸¯�ü±°��cö�í�ý�å{ó�|T£��T²�| � ��²�| � �T²Yt�°"|
üA¯���¯�ü±°��Y²�|�£8�T²³| � �T²�| � �eø6íuìuç�æ�å]ô>ó8t�°
|
üA¯ �©¯�ü±°��Y²�|�£8�Lñuì6å]ÿ�ò6øuí}| � �T²³| � �T²"t³°"|
üA¯=¹©¯�ü±°��Y²�|�£8�T²³| � �P�Nòmã�è�| � ��²"t³°Nõ

« 
��
�U(
�^� ² ´,(·�� �'�´P��� ² �H���-
�µ�(���
��;�

� s q�8^q>p <2?�DU= � v D 7 <2? 8 = DU= 4 ? 8
æ2ø)ì�ómã
æ2ø�ò�írq�s±°��Y²�|T£��T²³| � ��²�| � �T²Yt�°·s"t#õ
£��Hô>ó¥q�s±°��Y²�|T£��Lñuì6å�ÿcò6øuí}| � �T²³| � ��²"t³°_s"tw£8�Lô>ó�ï��NñuìNÿ6ã>íPõ
æ2ø�ò�írq�s±°��Y²�|T£��T²³| � �³�Nòmã�èf| � ��²"t�°_sYt � �Hô�ó ï��]ó�ô]æ � �Hô>ó%õ
ã>ì�ñuí ìcó þ £��Hô>óºq�s³°��2í�ó þ |T£8��²�| � �T²³| � �T²"tL°�sYt ã]ì]ñuí�ï��NñuìNÿ6ã>íPõ
ó)ô�æ6£8�Lô>ó�ìcó þ ã]ì]ñuí
q�s�°��]øuí��1ìuå�ø�|T£8�eø6í��1ì6åcøI| � �T²³| � �T²Yt³°�s"t´£��Hô>ó�ï���æNø�ò)íPõ

ó)ô�æ ã]ì]ñuí ìcó þ ó�ô]æ6£8�Lô>ó
q�s�°���ö)í2ý�å�óf|�£8�T²³| � �T²�| � ��²"t�°�s"t ã>ì�ñNí!ï���æNø]ò�íPõ� �Hô]ù�ìcó þ � �Lñmî®� îàìcó þ � �Lñ6úw� î
q�s�°��"²³|T£8��²�| � �T²³| � �Sø6íNì6çcæ1å]ô�óatL°�sYt � �Lô>ó ï��NñuìNÿ)ã�í}| � �Hô>ù�ï��Nñ6ì2ÿ)ã�íPõ� �Hô]ù�ìcó þ � �Hô>ó�� � �Lñ�î®� � �Lñuú
q�s�°��"²³|T£8��²�| � �T²³| � �Sø6íNì6çcæ1å]ô�óatL°�sYt � �Hô>ó�ï��>ó�ô�æ � �Lô>ó;õ

« 
��
�U(
�^� ² ´,(·�� �'�´P��� ² �H���-
�µ�(���
��;�

� s q�8^q>p <2?�DU= �
safe=false,G.on=true,S.on=true,L.on=true,L.ok=true,G.plus=1,G.minus=0,S.f1=1,S.f2=1,L.f1=1,L.f2=0 ()

safe=false,G.on=true,S.on=false,L.on=true,L.ok=true,G.plus=1,G.minus=0,S.f1=1,S.f2=1,L.f1=1,L.f2=0

(S.push)

safe=false,G.on=true,S.on=false,L.on=true,L.ok=true,G.plus=1,G.minus=0,S.f1=1,S.f2=0,L.f1=0,L.f2=0

(S.push)

safe=false,G.on=false,S.on=true,L.on=true,L.ok=true,G.plus=1,G.minus=1,S.f1=1,S.f2=1,L.f1=1,L.f2=1

(G.failure)

safe=true,G.on=true,S.on=true,L.on=true,L.ok=true,G.plus=1,G.minus=0,S.f1=0,S.f2=0,L.f1=0,L.f2=0

(end)

()

safe=true,G.on=false,S.on=true,L.on=true,L.ok=true,G.plus=1,G.minus=1,S.f1=0,S.f2=0,L.f1=0,L.f2=1

(G.failure)

safe=true,G.on=true,S.on=false,L.on=true,L.ok=true,G.plus=1,G.minus=0,S.f1=0,S.f2=1,L.f1=1,L.f2=0

(S.push)

safe=true,G.on=true,S.on=false,L.on=true,L.ok=true,G.plus=1,G.minus=0,S.f1=0,S.f2=0,L.f1=0,L.f2=0

(S.push)

safe=true,G.on=true,S.on=true,L.on=false,L.ok=true,G.plus=1,G.minus=0,S.f1=0,S.f2=0,L.f1=0,L.f2=0

(L.reaction)

(repair,G.repair)

()

safe=true,G.on=false,S.on=false,L.on=true,L.ok=true,G.plus=1,G.minus=1,S.f1=0,S.f2=0,L.f1=0,L.f2=1

(S.push)

safe=true,G.on=false,S.on=false,L.on=true,L.ok=true,G.plus=1,G.minus=1,S.f1=0,S.f2=1,L.f1=1,L.f2=1

(S.push)

safe=false,G.on=false,S.on=false,L.on=true,L.ok=true,G.plus=1,G.minus=1,S.f1=1,S.f2=0,L.f1=0,L.f2=1 ()

(begin)

(begin)

(S.push)

safe=false,G.on=false,S.on=false,L.on=true,L.ok=true,G.plus=1,G.minus=1,S.f1=1,S.f2=1,L.f1=1,L.f2=1

()

(S.push)

(G.failure)

()

()

(G.failure)

(S.push)

(G.failure)

()

()

safe=false,G.on=true,S.on=false,L.on=false,L.ok=true,G.plus=1,G.minus=0,S.f1=1,S.f2=1,L.f1=1,L.f2=0

(L.reaction)

safe=false,G.on=true,S.on=false,L.on=false,L.ok=true,G.plus=1,G.minus=0,S.f1=1,S.f2=0,L.f1=0,L.f2=0

(L.reaction)

(G.failure)

(S.push)

(end)

(end)

()

()

(G.failure)

(G.failure)

(S.push)

(end)

(end)

()

()

(G.failure)

safe=true,G.on=true,S.on=false,L.on=false,L.ok=true,G.plus=1,G.minus=0,S.f1=0,S.f2=1,L.f1=1,L.f2=0

(L.reaction)

safe=true,G.on=true,S.on=false,L.on=false,L.ok=true,G.plus=1,G.minus=0,S.f1=0,S.f2=0,L.f1=0,L.f2=0

(L.reaction)

(G.failure)

(S.push)

(repair,G.repair)

(repair,G.repair)

()

()

safe=false,G.on=false,S.on=false,L.on=false,L.ok=false,G.plus=1,G.minus=1,S.f1=1,S.f2=0,L.f1=0,L.f2=1
safe=false,G.on=false,S.on=false,L.on=false,L.ok=false,G.plus=1,G.minus=1,S.f1=1,S.f2=1,L.f1=1,L.f2=1
safe=false,G.on=false,S.on=true,L.on=false,L.ok=false,G.plus=1,G.minus=1,S.f1=1,S.f2=1,L.f1=1,L.f2=1

(S.push) ()

safe=true,G.on=false,S.on=false,L.on=false,L.ok=false,G.plus=1,G.minus=1,S.f1=0,S.f2=0,L.f1=0,L.f2=1
safe=true,G.on=false,S.on=false,L.on=false,L.ok=false,G.plus=1,G.minus=1,S.f1=0,S.f2=1,L.f1=1,L.f2=1
safe=true,G.on=false,S.on=true,L.on=false,L.ok=false,G.plus=1,G.minus=1,S.f1=0,S.f2=0,L.f1=0,L.f2=1

(begin)

safe=false,G.on=true,S.on=false,L.on=false,L.ok=false,G.plus=1,G.minus=0,S.f1=1,S.f2=0,L.f1=0,L.f2=0
safe=false,G.on=true,S.on=false,L.on=false,L.ok=false,G.plus=1,G.minus=0,S.f1=1,S.f2=1,L.f1=1,L.f2=0
safe=false,G.on=true,S.on=true,L.on=false,L.ok=false,G.plus=1,G.minus=0,S.f1=1,S.f2=1,L.f1=1,L.f2=0

(G.failure)

(S.push) ()

safe=true,G.on=true,S.on=false,L.on=false,L.ok=false,G.plus=1,G.minus=0,S.f1=0,S.f2=0,L.f1=0,L.f2=0
safe=true,G.on=true,S.on=false,L.on=false,L.ok=false,G.plus=1,G.minus=0,S.f1=0,S.f2=1,L.f1=1,L.f2=0
safe=true,G.on=true,S.on=true,L.on=false,L.ok=false,G.plus=1,G.minus=0,S.f1=0,S.f2=0,L.f1=0,L.f2=0

(end)

(S.push) ()

(G.failure)(repair,G.repair)

(S.push) ()

(L.reaction)

(L.reaction)

()

()

safe=false,G.on=false,S.on=false,L.on=false,L.ok=true,G.plus=1,G.minus=1,S.f1=1,S.f2=0,L.f1=0,L.f2=1

(G.failure)

safe=false,G.on=false,S.on=false,L.on=false,L.ok=true,G.plus=1,G.minus=1,S.f1=1,S.f2=1,L.f1=1,L.f2=1

(G.failure)

safe=false,G.on=true,S.on=true,L.on=false,L.ok=true,G.plus=1,G.minus=0,S.f1=1,S.f2=1,L.f1=1,L.f2=0

(S.push)

()

()

(G.failure)

(G.failure)

(S.push)

(L.reaction)

(L.reaction)

(end)

(end)

()

()

(S.push)

safe=true,G.on=false,S.on=false,L.on=false,L.ok=true,G.plus=1,G.minus=1,S.f1=0,S.f2=0,L.f1=0,L.f2=1

(G.failure)

safe=true,G.on=false,S.on=false,L.on=false,L.ok=true,G.plus=1,G.minus=1,S.f1=0,S.f2=1,L.f1=1,L.f2=1

(G.failure)

(end)

(end)

()

()

(S.push)

(G.failure)

(G.failure)

(S.push)

(S.push)

()

safe=true,G.on=false,S.on=true,L.on=false,L.ok=true,G.plus=1,G.minus=1,S.f1=0,S.f2=0,L.f1=0,L.f2=1

(G.failure)

(end)

(S.push)

(repair,G.repair)

(repair,G.repair)

()

(L.reaction)

()

(L.reaction)

(L.reaction)

(L.reaction)

(repair,G.repair)

(repair,G.repair)

(L.reaction)

()

()

(S.push)

(L.reaction)

(repair,G.repair)

(repair,G.repair)

()

()

(S.push)

(L.reaction)

(repair,G.repair)

(S.push)

(S.push)

()

(begin)

(S.push)

(L.reaction)

()

(S.push)

safe=false,G.on=false,S.on=true,L.on=false,L.ok=true,G.plus=1,G.minus=1,S.f1=1,S.f2=1,L.f1=1,L.f2=1

(L.reaction)

()

(begin)

(L.reaction)

(begin)

(S.push)

()

(L.reaction)

(L.reaction)

(L.reaction)

(begin)

(begin)

(L.reaction)

()

()

(S.push)

(L.reaction)

(begin)

(begin)

()

()

(S.push)

(L.reaction)

(begin)

(S.push)

(S.push)

()

(L.reaction)

(S.push)

(S.push) (G.failure)

()
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| q>p <2?�DU= � 4�} D§s q�7 <2? t�46p 8 ��s qyt)5 : q�7
PJ1.nbJobs=2,PJ2.nbJobs=2,PJ3.nbJobs=2 ()

PJ1.nbJobs=1,PJ2.nbJobs=2,PJ3.nbJobs=2

(PJ1.get)

PJ1.nbJobs=2,PJ2.nbJobs=1,PJ3.nbJobs=2

(PJ2.get)

PJ1.nbJobs=2,PJ2.nbJobs=2,PJ3.nbJobs=1

(PJ3.get)

(PJ1.put)

()

PJ1.nbJobs=0,PJ2.nbJobs=2,PJ3.nbJobs=2

(PJ1.get)

PJ1.nbJobs=1,PJ2.nbJobs=1,PJ3.nbJobs=2

(PJ2.get)

PJ1.nbJobs=1,PJ2.nbJobs=2,PJ3.nbJobs=1

(PJ3.get)

(PJ1.put)

()

PJ1.nbJobs=0,PJ2.nbJobs=1,PJ3.nbJobs=2

(PJ2.get)

PJ1.nbJobs=0,PJ2.nbJobs=2,PJ3.nbJobs=1

(PJ3.get)

(PJ2.put)

()

(PJ1.put)

PJ1.nbJobs=0,PJ2.nbJobs=0,PJ3.nbJobs=2

(PJ2.get)

PJ1.nbJobs=0,PJ2.nbJobs=1,PJ3.nbJobs=1

(PJ3.get)

(PJ2.put)

(PJ1.get)

()

(PJ1.put)

PJ1.nbJobs=1,PJ2.nbJobs=0,PJ3.nbJobs=2

(PJ2.get)

PJ1.nbJobs=1,PJ2.nbJobs=1,PJ3.nbJobs=1

(PJ3.get)

(PJ2.put)

(PJ1.get)

()

PJ1.nbJobs=2,PJ2.nbJobs=0,PJ3.nbJobs=2

(PJ2.get)

PJ1.nbJobs=2,PJ2.nbJobs=1,PJ3.nbJobs=1

(PJ3.get)

(PJ2.put)

()

(PJ1.get)

PJ1.nbJobs=2,PJ2.nbJobs=0,PJ3.nbJobs=1

(PJ3.get)

(PJ2.put)

(PJ1.put)

()

(PJ1.get)

PJ1.nbJobs=1,PJ2.nbJobs=0,PJ3.nbJobs=1

(PJ3.get)

(PJ2.put)

(PJ1.put)

()

PJ1.nbJobs=0,PJ2.nbJobs=0,PJ3.nbJobs=1

(PJ3.get) (PJ3.put)

()

(PJ1.put)

(PJ2.put)

PJ1.nbJobs=0,PJ2.nbJobs=0,PJ3.nbJobs=0

(PJ3.get)

(PJ3.put)

(PJ1.get)

()

(PJ1.put)

(PJ2.put)

PJ1.nbJobs=1,PJ2.nbJobs=0,PJ3.nbJobs=0

(PJ3.get)

(PJ3.put)

(PJ1.get)

()

(PJ2.put)

PJ1.nbJobs=2,PJ2.nbJobs=0,PJ3.nbJobs=0

(PJ3.get)

(PJ3.put)

(PJ2.get)

()

(PJ1.get)

(PJ2.put)

PJ1.nbJobs=2,PJ2.nbJobs=1,PJ3.nbJobs=0

(PJ3.get)

(PJ3.put)

(PJ2.get)

(PJ1.put)

()

(PJ1.get)

(PJ2.put)

PJ1.nbJobs=1,PJ2.nbJobs=1,PJ3.nbJobs=0

(PJ3.get)

(PJ3.put)

(PJ2.get)

(PJ1.put)

()

(PJ2.put)

PJ1.nbJobs=0,PJ2.nbJobs=1,PJ3.nbJobs=0

(PJ3.get)

(PJ3.put)

(PJ2.get)

()

(PJ1.put)

PJ1.nbJobs=0,PJ2.nbJobs=2,PJ3.nbJobs=0

(PJ3.get)

(PJ3.put)

(PJ2.get)

(PJ1.get)

()

(PJ1.put)

PJ1.nbJobs=1,PJ2.nbJobs=2,PJ3.nbJobs=0

(PJ3.get)

(PJ3.put)

(PJ2.get)

(PJ1.get)

()

PJ1.nbJobs=2,PJ2.nbJobs=2,PJ3.nbJobs=0

(PJ3.get)(PJ3.put)

()

(PJ1.get)

(PJ2.get)

(PJ3.put)

(PJ1.put)

()

(PJ1.get)

(PJ2.get)

(PJ3.put)

(PJ1.put)

()

(PJ2.get)

(PJ3.put)

(PJ2.put)

()

(PJ1.put)

(PJ2.get)

(PJ3.put)

(PJ2.put)

(PJ1.get)

()

(PJ1.put)

(PJ2.get)

(PJ3.put)

(PJ2.put)

(PJ1.get)

()

(PJ2.get)

(PJ3.put)

(PJ2.put)

()

(PJ1.get)

(PJ3.put)

(PJ2.put)

(PJ1.put)

()

(PJ1.get)

(PJ3.put)

(PJ2.put)

(PJ1.put)

()
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| q>p <2?�DU= � 4�} D§s q���7 = 4]7 = D`x 8 ��s qyt�5 : q�7
PJ1.nbJobs=0,PJ2.nbJobs=2,PJ3.nbJobs=2 ()

PJ1.nbJobs=1,PJ2.nbJobs=2,PJ3.nbJobs=2

(PJ1.put)

PJ1.nbJobs=0,PJ2.nbJobs=1,PJ3.nbJobs=2

(run2,PJ2.get)

(run1,PJ1.get)

()

PJ1.nbJobs=2,PJ2.nbJobs=2,PJ3.nbJobs=2

(PJ1.put) (run1,PJ1.get)

()

PJ1.nbJobs=2,PJ2.nbJobs=1,PJ3.nbJobs=2

(PJ2.put)

()

PJ1.nbJobs=1,PJ2.nbJobs=1,PJ3.nbJobs=2

(run1,PJ1.get)

PJ1.nbJobs=2,PJ2.nbJobs=0,PJ3.nbJobs=2

(PJ2.put)

()

PJ1.nbJobs=1,PJ2.nbJobs=0,PJ3.nbJobs=2

(run1,PJ1.get)

PJ1.nbJobs=0,PJ2.nbJobs=0,PJ3.nbJobs=2 ()

(PJ2.put)

(PJ1.put)

PJ1.nbJobs=0,PJ2.nbJobs=0,PJ3.nbJobs=1

(run3,PJ3.get)

(PJ2.put)

(run2,PJ2.get)

()

(PJ1.put)

(PJ1.put)

(run1,PJ1.get)

()

(PJ2.put)

(PJ2.put)

(PJ1.put)

(run1,PJ1.get)

()

PJ1.nbJobs=1,PJ2.nbJobs=1,PJ3.nbJobs=1

(PJ3.put)

()

PJ1.nbJobs=0,PJ2.nbJobs=1,PJ3.nbJobs=1

(run1,PJ1.get)

PJ1.nbJobs=1,PJ2.nbJobs=2,PJ3.nbJobs=1

(PJ2.put)

PJ1.nbJobs=2,PJ2.nbJobs=1,PJ3.nbJobs=1

(PJ1.put)

PJ1.nbJobs=1,PJ2.nbJobs=0,PJ3.nbJobs=1

(PJ3.put) (PJ2.put)

()

(run1,PJ1.get)

PJ1.nbJobs=2,PJ2.nbJobs=0,PJ3.nbJobs=1

(PJ1.put)

(PJ3.put)

(PJ1.put)

()

(PJ2.put)

PJ1.nbJobs=0,PJ2.nbJobs=0,PJ3.nbJobs=0

(run3,PJ3.get)

(PJ3.put)

(PJ1.put)

(run2,PJ2.get)

()

PJ1.nbJobs=0,PJ2.nbJobs=2,PJ3.nbJobs=1

(PJ2.put)

(PJ3.put)

(run2,PJ2.get)

()

(PJ1.put)

(PJ3.put)

(run1,PJ1.get)

()

PJ1.nbJobs=2,PJ2.nbJobs=2,PJ3.nbJobs=1

(PJ1.put)

(PJ3.put)

(run1,PJ1.get)

()

PJ1.nbJobs=2,PJ2.nbJobs=2,PJ3.nbJobs=0
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